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Instructions for Candidates

1. Write your roll no. on the top immediately after
receiving the question paper.

2. Attempt any five questions.
3. The use of a simple calculator and Z-Table is allowed.

4. If you find a missing value in a question, assume a
value and solve the question.

1.  Smart Exports Ltd. produces two products: X and Y.
The requirements and constraints related to their

production are provided below:
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W, W, Ws Supply
16 20 12 200
14 8 18 160
26 24 16 90
[Demand [180 [ 120 [150 |50

" Determine the optimal distribution for this company

to minimize the total shipping cost. (10)

factory's plant layout modification, four new
SHEEE = M1 M2, M3, and M4 - are set to be
ve spots are available: A, B, C, D, and
. to space constraints, M2 cannot be

d at spot C, and M3 cannot be located at

i ]
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(i) Draw a PERT Network and identify the critical
~ activities within the project?

T2
-

(i1) What is the expected project completion time and
L LU

‘its variance?

tractor if the project is not completed in
s. What is the probability that he must
alty? (5*3=15)

P.T.O.
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, a typing clerk receives an 5. (a) Mr. Sadhil travels between Mumbai and Delhi for
;.di_a‘ily for transcription. business meetings. He has multiple transport
daily, typically taking 7 options to reach the airport. The city shuttle costs
ut each document. The 1 Rs. 13, but there's a 0.08 probability he'll be late

urred due to g and miss his flight. The luxury hotel car service is

as opportunity : priced at Rs. 27, offering a 0.96 chance of reaching
r on time. For Rs. 4.50, he can hail a regular cab,
= which boasts a success rate of 99 out of 100 trips

arriving on time.

If Mr. Sadhil gets to his flight promptly, he will
seal a deal yielding a profit of Rs. 1000. However,
if late, the potential payoff will be forfeited. Based
_on the Expected Monetary Value (EMV) approach,

‘which transportation method should Mr. Y opt for?
9)

(6)

P.T. 0,
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6. (a) A firm purchases batches of 500 containers for a
‘quarter of the year. Each container has a price

W '“ ~ tag of Rs. 125, and the cost to place an order

"5‘ il ~ stands at Rs. 150. The estimated storage expenses

*w (m%ntory carrying charge) are about 20% of the
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